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FROM B, LYaX, RyTiE(10EAY) 1394 196 201 1
PR h# Bh& 1kg 643 563 l
f=Fh&E FREREZERS 1kg 231 238 1
k<k 1kg 823 685] |
ZDERET 100g 67 59 l
28 RIBEE, i 100g 31 3t —
e YAl AL, 118200~400g(1~7, 11~128) kg 394 401 T
HA B A A 11870~130g(1~3,9~128) 1ke 459 483] 1
nE 1{8190~260g(10~128) 1kg 461 434 |
(AYYu (1~5A8.128) 100g 189
NFF kg 246 24 |
jAg - SRR BHM Fv/—Z (et RUBFEAY (1,000gAY) 1K 313 313 —
L ﬁﬁf}‘ﬁb:u% L&SW. JASHRIE S -1k, RUBHEAY 1% 248 25| 1
HE RAT. YT AY (750gAY) ifi 1@ 348 48| —
EEESVS RYEB/AY (500gAY) 1K 251 2511 —
7 P et Ef:“u&@#(Ef:“t»&(éﬁ’&ﬁt) HTEHAAY LR 100g 162 o R
e Wb Ya—kr—+(1{860~100g) 100g 483 483 —
RERES TLEH) BFoRYTL.ICFYTL.8~10EAY, i 1892 639 639 —
hodHf BA. BLEL 100g 146 146] —
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1. EZREFRBERA BT YERAREIOAEREREMBRHLLOTHY . RERBERABRILRRIND
DEEEDEES DN AR A EER I OBBRBEERLIENHYFET.
2. INFEEARIC DL TIE, SRABIE K YA A Mg EDEREDLTNEENHYET,

BERY—ER b= 5] HWERE. KA 108 3,750 3750 —
BEARAR P EHBZA., BAY(380~440mLAY) 100mL 127 1271] —
T EHY





